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S . 32 Deprecation



Topic: 

illu As all the Assets of Block are sold ,
hence block ceases

-
-

to Exist
. Thermore No dep shall be alloway of 32 .

(A) Assets say for F12L

stcy ofs 50= sale value-Blou value
= 121-112 = 12

IB) Assets sold for ah

Sec ofs 50 : Blou valve-sale Value
=112-92 = 21

·

&



in5 CASE- A
- --

-
Pu Op 121Dx (A/B127 311000
->

+ Asset Acq . D 60 1000

- sold 112 1378000)
CIWDU A/D MIL

NO Dep shall be allowed As block exist with MIL Value

⑭
st us 50 = sale value-Block value

=500000-378000 = 1 , 22 ,000

⑭- B -

Op 121Dx (A/B127 311000

t Asset Aca . D 60 1000

120000)- Sold 1/2180000 +40000 258000
CIWDU A/D

p Half rate D = 60000 x7 .50% 4500

full rate=(258000-60000) x 15% 29700
-

34200
--

-



car Acc &But to use
I

to fo
Between 2318119-3113128 Any other pod
t

Not Running or Hire -> 30% Not During on Here 15%

Running or Here -> 45% Ruering or Here 30%

Not Running01 Hire

ca que Flow or upa->Mock = 15%

can que size or 19110119=Blouc = 30%



Deprate Rattlea -

Building Res =5%
Non-Res = 10%

Hotels = 10%

Temp = 40%

F2f 10010

Hire = 30% 3 Acq & put to use betweeMotor Cal Not or Hire = 15% 231919 to 313120
&editoral 15%

&IM -> 1500 computes -> 40% Rooks -> not

Intangible other that 41W= 25%

Relarce-quest
house = 5%

↑ office = 10%

WH = 10%

Hotels = 10%



* Dep Allow or Actual cost of Assu
L I

Amount lary by Not unde Any Ant PaveAssesser by Any other Person
is subsidy

-

* Ray &

↳wriey point Asset is put to useP
- 3E the whe

13 addly
4
to wit of Asset .

Mote Asset Accrey by Raising loan
-

-

to ↓
int upto Asset is put to use Frt After Asset is put to
I keep -> Capital Mature) Use

H semp - Revam Mour)
Add to Actual Lost of t

Asset Dr . to &12
117123 Put to use

Gm-313
I B I I
loar Int add 1110
Rare 102912% Int to cost o Asst

#Dr
- to DI Ac



E
cost of Asset 10 ,00,000

Ad 102x12% x 3/12 /Jury-seps 30 1000

10 ,30 ,000

Black Mor
->> Unasworked Mor
· Not recordil in BOA

&

~ Not discove to Gout Authorita
· No Tod pall s .4xc/s-35/s-noness

Aggregate
One

one parl upso
- Any Mode

A9.
one Rap exceed 10 ,000 =

Specficy Mode .

S

L - NEFT

A Payee cha Electronic RT4]

Al Payee draft clearing IMPS

systea &r . call

Through cr . coul
Bork A2 Met bonke

UPI



If Any Assessee has Amount eceeding
10 ,000 In a

day to a person
pay
for of Asset by Any

specficy
paymut

&

Mode other thar ↑10de the Such Entre E
Mot T 1 Actual lostpaynet sholl -clude

of Asset
S2 A Payee Char 10/723 - flower
12 MFT 121823 -> Allowed

10 ,00 ,000 &M
50000 crosse Cha 1919123 -> Not allower
10000 cosh 20110123 -> allowe
40000 RT 4S 20111923

->

allower

AsActual lost of Asset pur S- 4311) = 9 ,50 ,000 .

Mr .I

=10 100,000 /Mrs & 10 ,001000

Bearer Cha Al Payre crossed Char

Michae Mr -J
=10 ,00,000



Machine Uh

I
f N to

&

1017123 121823 1419123 1510
=3 ,00 ,000 10 :00 AM #5000 Cash 10 :00 5000 lash~ 25000

MEFT 1 :00PM F10000 Cross Cha
X
2:00 35000 RT4S ~ UPI

W 5:00PM =20000 All Payeew M

Actua cost up 43(1= 300000 + 20000 + 5000 +35000 + 25000
20-2 - 385000

.

↳ can Purch 192020 = Flow

Mr .I
SAR 41F7 15/723 23-24 > Assessee

H
Hi

Actual Lost to Assessee Repain of Car - 12

&coal cost of lar to Mr -J -

-Dep for Peroy car is ony is By 5 1- 3
-

-

-↑ Exp Newer By Asseee or Asset -

-Actual cost
-

-



Actual cost of las to Mrs 10 100 ,000

A Dep-Gerod for which Asset is used
by Mr. 5

20-21 15% WDV 150000

850000

21-22 15% WDU 127500

722500

22-23 15% WDU 108375

614125

↑ Exp . Inwire they Assessee 100000

M T14125tal cost to Assessee
--
--
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